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QUESTION 1

How much Total Float does drafting the product manual have? 

A. 15 workdays. 

B. 0 workdays. 

C. 10 workdays. 

D. 5 workdays. 

Correct Answer: C 

 

QUESTION 2

Using the "normal" schedule, if you start Activity 7001 on April 1, 2002, and using a 5-day workweek, what the finish
date for Activity 7001? 

A. 06-11-02. 

B. 06-04-02. 

C. 06-18-02. 

D. 06-05-02. 
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Correct Answer: D 

 

QUESTION 3

Estimate to complete (ETC) is __________________. 

A. The expected remaining cost needed to complete an activity, group of activities or the project 

B. The costs actually incurred in accomplishing the work performed 

C. The expected total cost of an activity, group of activities or the project 

D. The value of the completed work expressed in terms of the budget assigned to that work 

Correct Answer: A 

 

QUESTION 4

Determine the correct formula and date for the late finish for Activity 2002. 

A. LS.2003 - 1 day -> 11.06.01. 

B. LS.2003 - 1 day -> 10-06-01. 

C. LS.2003 + 1 day -> 10-07-01. 

D. LS.2003 - 1 day -> 10-05-01. 

Correct Answer: D 

 

QUESTION 5

What is the primary difference between the arrow diagramming method (ADM) and the precedence diagramming
method (PDM)? 

A. ADM is limited to finish-to-start logic relationships, while PDM is not. 

B. PDM is a bar chart with network logic, while ADM is a pure logic network. 

C. ADM is manual CPM calculations, while PDM is computerized. 

D. ADM uses arrows, while PDM uses boxes. 

Correct Answer: A 
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